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Problem 5

Problem. Evaluate the limit
lim 3(x —4)
1 —_—
z—4 12 — 16

(a) using techniques from Chapters 1 and 3 and (b) using L’Hopital’s Rule.

Solution.

Problem 7

Problem. Evaluate the limit
. Vr+10—-14
lim ———
z—6 r—06

(a) using techniques from Chapters 1 and 3 and (b) using L’Hopital’s Rule.

Solution.

Problem 11

Problem. Evaluate the limit
Cox?—2r -3
lim ———

z—3 r—3

using LL’Hopital’s Rule if necessary.

Solution.
Problem 12
Problem. Evaluate the limit
22 =3x—-10
lim ——M—
T——2 T+ 2

using L.’Hopital’s Rule if necessary.

Solution.



Problem 13

Problem. Evaluate the limit
o V25 —a2%2-5
lim ——
x—0 x

using L’Hopital’s Rule if necessary.

Solution.

Problem 14

Problem. Evaluate the limit
. V25 —2a?
lim —————
T—5" r—95
using LL’Hopital’s Rule if necessary.

Solution.
Problem 16
Problem. Evaluate the limit
. Ina?
lim
e—1 g2 —1
using L.’Hopital’s Rule if necessary.
Solution.
Problem 19
Problem. Evaluate the limit ]
. sindx
lim —
z—0 sin S
using LL’Hopital’s Rule if necessary.
Solution.
Problem 21
Problem. Evaluate the limit )
. arcsinz
lim
x—0 €x

using LL’Hopital’s Rule if necessary.

Solution.



Problem 23

Problem. Evaluate the limit

o b+ 3x—1
lim ———
z—oo  4x?2 45
using L’Hopital’s Rule if necessary.
Solution.
Problem 25
Problem. Evaluate the limit
I 22 4+ 4o+7
im ———

T—00 r—06

using L.’Hopital’s Rule if necessary.

Solution.

Problem 29

Problem. Evaluate the limit

lim
z—o0 /12 + 1

using L'Hopital’s Rule if necessary.

Solution.
Problem 39
Problem. Evaluate the limit
arctan x
im——-
z—0 SInx

using L’Hopital’s Rule if necessary.

Solution.



